The model is Yj; = a+ Bz + 615 + 62sx35 + €55 fori =1,...,nand j = 1,2,
where ;1 = 1 and z;2 = 0.

The variances of the random effects are V(81;) = 1§ and V (da;) = 3, and
their covariance is C(d14,02;) = t12. The observation-level error variance is
V(&'j) = 0'2.

Then the composite error is (;; = d1; + 2,245 + €;; with variance V((;;) =
Y7+ w305 4 2wi5912 + 0%, which is V(Gi1) = 97 4+ 93 4+ 212 + 02 for j = 1 and
V(Cia) = 9f 4 o for j = 2, and covariance C((1, Giz) = ¥7 + 13,

There are, as you say, 4 variance-covariance components, 1%, 13,112, 0%, and
just 3 variances and covariances among the composite disturbances,
V(Gi1), V(Ci2), C(Cin, Ciz), and so—as you and several others have noted (but
T missed)—the variance-covariance components are underidentified.



